WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32192	API No. 15 - 007-22796 - 00 - 00
Name: Pride Energy Company	County: Barber
Address: PO Box 701950	SW SE SW Sec 6 Twp 30 S. R. 11 East ♥ Wes
City/State/Zip: Tulsa, OK 74170-1950	330 feet from S/ N (circle one) Line of Section
Purchaser: Lumen	1650 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Matthew Pride	Footages Calculated from Nearest Outside Section Corner:
Phone: (_918) _524-9200	(circle one) NE (SE) NW SW
Contractor: Name: Pickrell Drilling Co.	Lease Name: Hoyt Well #: 1-6
License: 5123	Field Name: Harding
Wellsite Geologist: Ken LeBlance	Producing Formation: Topeka
Designate Type of Completion:	Elevation: Ground: 1839 Kelly Bushing: 1844
✓ New Well Re-Entry Workover	Total Depth: 4000 Plug Back Total Depth: 3960
Oil SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 313 Fee
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2502
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt
Well Name:	SX OIII
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT TWHM
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 7-12-07
Plug Back Plug Back Total Depth	Chloride content 4500 ppm Fluid volume 400 bbls
Commingled Docket No	Dewatering method used evaporation & trucking
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
	Operator Name: Bemco
Other (SWD or Enhr.?) Docket No	Lease Name: Mac License No.: 32613
2/10/04 2/16/04 4/13/04 South Park Park In The Park In	QuarterSec. 7 Twp. 32 S. R. 11 East V Wes
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	County: Barber Docket No.: C-21045
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	
herein are complete and correct to the best of my knowledge	ate the oil and gas industry have been fully complied with and the statements
Signature: July 0.	KCC Office Use ONLY
Title: Engineer / Date: 12/20/06	Letter of Confidentiality Attached
Subscribed and sworn to before me this 22 day of Deumber	If Denied, Yes Date:
20.06	Wireline Log RANSAS CORPORATION COMMISSION
(1) (1) Leut	Geologist Report Received DEC 2 6 2006
Notary Public: TWW O. JWC	Motory Dublio
Date Commission Expires:	Notary Public CONSERVATION DIVISION MUCHITA IO
Con Con	mission #06004720 WICHTA, KS Expires 05/11/10

Operator Name: Pride Energy Company		Lease Name: Hoyt				Well #: 1-6			
Sec. 6 Twp. 3	30 S. R. 11	Eas	t 🗸 West	Cou	nty: Barb	er			
INSTRUCTIONS: S tested, time tool ope temperature, fluid re Electric Wireline Log	n and closed, flowing covery, and flow rate	g and shut s if gas to	i-in pressures, surface test, a	whether long with	shut-in pr	essure reached	static level, hydro	static pressur	
Drill Stem Tests Take		Y	es 🗸 No		. VI	.og Formati	on (Top), Depth a	nd Datum	Sample
Samples Sent to Ge	,	✓ Y	es No		Nam	ne		Тор	Datum
Cores Taken		Y			Red	Eagle		2618	(-774)
Electric Log Run (Submit Copy)		✓ Y	es No		India	an Cave		2748	(-904)
ist All E. Logs Run:					Tark	tio		2946	(-1102)
Rosel ML					Тор	eka		3174	(-1330)
Rosel DIL Rosel CDL/CN	IL				Tord	onto		3746	(-1902)
		Repo	CASING I			ew Used	ion, etc.		<u>.</u>
Purpose of String	Size Hole Drilled		e Casing (In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives
Surface	12 1/4	8 5/8		23	-	302	60/40 POZ Class A	225; 450	2% gel + 3%CC; 3%CC
Production	7 7/8	5 1/2		15.5		3936	AFC	225	0.05% FL 160
DV Tool	-	-		-		2442	AMD	225	1/4 # FC/SX
			ADDITIONAL	CEMENT	ring / sql	JEEZE RECORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sacl	ks Used		Type and Pe	ercent Additives	
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated					Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
4 Toronto 3746-50; CIBP @ 3350				Acidize w/ 500 gal 3746-50					
4 Topeka 3174-82, 3322-26				Acidize w/ 250 gal 3322-2					
TUBING RECORD	Size	Set At		Packer	At	Liner Run			
2.3		3315		one			Yes 🗸 No	-	
vale of FIRST, Hesumero	d Production, SWD or E	nnr.	Producing Meth	od	Flowing	Pumpin	g Gas Lift	Othe	r (Explain)
Estimated Production Per 24 Hours	Oil I	Bbls.	Gas N	Vict	Wate	r Bb	ols. Ga	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	OMPLETIO				Production Interv			RECEIVED
Vented ✓ Sold (If vented, Su	Used on Lease		Open Hole Other (Specify	✓ Per	rf.	ually Comp.	Commingled	CACYIAN	CORPORATION COMM DEC 2 6 2006

CONSERVATION DIVISION WICHITA, KS

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID#

Invoice Number: 092392

Invoice Date: 02/19/04

Sold Pride Energy Company To: P. O. Box 701602 Tulsa, OK 74170-1602

Cust I.D....: Pride

P.O. Number. Hoyt 1-6

P.O. Date.... 02/19/04

Due Date:: 03/20/04 Terms Net 30

and the second s	4.5				
Item I.D./Desc. Qty.	Used	Unit	. Price	Net	IΧ
gram a Tabiliya afiri ka atir sabahat ya ka ali iliya anake ya ka Asaaliya (asaanaki) a aye aki	e de	•	- a a managemental an		- 1
ASC establish which said meet to be the said of the said	225.00	SKS	9.0000	2025.00	T
KolSeal	1125.00	LBS	····0· · 5000·	562.50	T
FL-160	106.00	LBS	8:0000	848.00	T
Mud Clean	500.00	GAL	0.7500	375.00	T
Handling	289.00	SKS	1.1500	332.35	E
Mileage (14)	14.00	MILE	14.4500	202.30	- E
289 sks @\$.05 per sk	per mi				
Bottom Stage	1.00	JOB	1130.0000	1130.00	E.
Mileage pmp.trk	14.00	MILE	3.5000	49.00	E
AFU-Float Shoe	1.00	EACH	I 263 : 0000	263:00-	T
Latch Down	1.00	EACH	350.0000	350.00	Τİ
DV Tool	1.00	EACH	3300.0000	3300.00	T
Baskets	3.00	EACH	128.0000	384.00	T
Centralizers	15.00	EACH	50-0000	750.00	T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$1057.12 ONLY If paid within 30 days from Invoice Date Subtotal: 10571.15 602.32 0.00 Payments: "

RECEIVED CORPORATION COMMISSION

DEC 26 2006

CONSERVATION DIVISION

WICHITA, KS

REMIT TO P.O. B RUSS		NSAS 6766	55	SERVICE POINT: Mcd.c.nelo6,				
DATE 2-16-04	SEC.	TWP.	RANGE	CALLED OUT	1,	ON LOCATION		JOB FINISH 7:15 M.
LEASE HOXT	WELL#	1-6	LOCATION ISA	Bal	15	16) //10	COUNTRY	STATE
OLD OR NEW)(Ci								
	<u> </u>				A	. 1 +		_
****	·ckr		Bottom-	OWNER	<u> </u>	'de Ene	rgy (<u>'</u> o
TYPE OF JOB ス・ HOLE SIZE <i>フラ</i>	م وي الح	<u>€</u> T.D⊿	295	CEMENT		•		
CASING SIZE 5	1/2		TH.3936			ered <u>225</u>	SY AS	C+5#
TUBING SIZE		DEP	TH	Ko1-		1+.5%	F1-16	0
DRILL PIPE 4	/2		TH 3950	500,	Sal	Much	lean_	·
res. Max 90	a Per		TH 2445 IMUM 200 PSZ	5 600	. Δ.	ca 22	~ (2 M)	2025.00
MEAS. LINE	الكدان		E JOINT / 7, 77	POZMIX	V_ <i>L_L</i> :	20.00	_@ <u>-7/ </u>	2000 Sill
CEMENT LEFT IN	CSG.	17:77 F		GEL			@	
PERFS.				CHLORIE	. —		@	
DISPLACEMENT,			+ Much	. Kcis	enf	1/25	254_ ه	
	EQU	IPMENT		<u> </u>	11.	106 -	_@ <u>_8:00</u>	. <u>848.00</u>
				- I'ua	CLEZ	2n 500 of	_@ <i>,75</i> _ @	_3/3/V
	CEMENT	A	c) Wi	-			_	
302 F BULK TRUCK	HELPER (Dusp	2 = W'	- HANDLIN				337.35
363 I	ORIVER (Josh	\mathcal{M}_{i}	MILEAGE	-/:	1 x 289	X.05	202130
ULK TRUCK				-				11711611
1	DRIVER		····	•			TOTAL	4.345,15
	REN	/ARKS:				SERVIO	CE	
Peon B	20/10/	n Br	TK CIK			3936		
Jun (5130	15, W	ATER /	OBB/S/MUJU			CHARGE		1/30,00
101-600 1+1	5% F	1-1/00	5 <i>5X A5C F5</i>	EXTRA FO		/4	@ <u></u>	49.00
Josh Dump	7-1	250	Of Plug Dig				@	
1/3533/5	Wate	1605	3B/5, 810cl				@	
Simp Ylucy	Hoa	TDU	HS/J UN	ر			_@	
LIT For 15 m	in ope	n Do al	000 P32 C116					1170 00
A,	1.	E0 =00	12				TOTAL	1179.00
HARGE TO: 1		riery	<i>Y</i>	•				
TREET				-	,	FLOAT EQUI	PMENT	
ITY	STA	TE	ZIP	5/2		-//	- 012.00	0/200
		•		1-At0	Pla	Down flow	. @ <u>als3.0()</u> @ 3C0.40	350,00
				1-0V T	2001	POUT TICE	@3300.00	3300,00
				3-Bus	Ke	TS	@128,00	384.00
o Allied Cementi	ng Co I	nc.		15 Cent	Del.	zers,	@ <i>50.00</i>	750.00
ou are hereby rec			enting equipment					0///
nd furnish cemen	ter and h	elper to ass	sist owner or			4	TOTAL	5047.00
			above work was			-,		
one to satisfaction				TAX				_
			the "TERMS AND	TOTAL CH	IARGI		and the	3
CONDITIONS" li	stea on th	ie reverse :	side.	DISCOUN	/	(Bana)	D	N IN 20 D 4520
				DISCOUNT			—· IH PΔ II	D IN 30 DAYS
	/ /	()		DISCOON	1 (5		n 1701	JIV JO DIVI J
,	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	Tall) JISCOUN	1 -6	10.	— 11 17111 2	3 II 30 DIII 3
IGNATURE /	ent	Jany		1)ar	vid Pawle	7	
GNATURE &	last	Jany	ANY APPI	1	Dar TAX	vid Pawle PRINTE	NAME	RECEIV

UPON INVOICING

SAS CORPORATION COMMISSION

DEC 26 2006

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566______ FEDERAL TAX ID#

Invoice Number: 092393

Invoice Date: 02/19/04

Sold Pride Energy Company
To: P. O. Box 701602
Tulsa, OK.,
74170-1602

Cust I.D....: Pride

P.O. Number..: Hoyt 1-6

P.O. Date...:-02/19/04

Due Date:: 03/20/04 Terms:: Net 30

and the second s					1
Item I.D./Desc. Qt	y. Used	Unit	Price	Net	TX
Class A AMD	250.00	SKS	12.8000	3200.00	T
FloSeal	- 63.00	LBS	1.4000	88.20	T
Handling	278.00	SKS	1.1500	319.70	E
Mileage (14)	14.00	MILE	13.9000	194.60	E
278 sks @\$.05 per	sk per mi				.
Top Stage	1.00	JOB	650.0000	650.00	Εļ
and the second s					

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 445.25 ONLY if paid within 30 days from Invoice Date

Tax....:
Payments:

223.59 0.00 4676.09

4452.50

Cement Job (top stage)
51/2"Casing

4,230.

31113

RECEIVED KANSAS CORPORATION COMMISSION

DEC 2 6 2006

SERVICE POINT: REMIT TO P.O. BOX 31 **RUSSELL, KANSAS 67665** Medicine L.D.C. CALLED OUT JOB START ON LOCATION DATE 27/0-84 LEASE HOLT WELL# OLD OR NEW (Circle one) CONTRACTOR PICK OWNER TO TYPE OF JOB CEMENT **HOLE SIZE** T.D_ AMOUNT_ORDERED **CASING SIZE** DEPTH 14#F10-Seg **TUBING SIZE** DEPTH **DRILL PIPE** DEPTH DEPTH 2450 TOOL 2450 CLASS A 250 PRES. MAX 450 PSI MINIMUM 100 <u>AMD @ 12.80 3200.00</u> MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG GEL. @ PERFS. CHLORIDE @ DISPLACEMENT Fresh @ 1.40 @ **EQUIPMENT** @ @ CEMENTER Day PUMP TRUCK @ HELPER Wayn #,302 278 **HANDLING** @ <u>/1/5</u> _ BULK TRUCK # 363 BULK TRUCK MILEAGE 14 X 27 8 X 05 DRIVER Jose TOTAL 3802.50 DRIVER **REMARKS: SERVICE** DEPTH OF JOB 2445 PUMP TRUCK CHARGE 650,00 EXTRA FOOTAGE MILEAGE @ 3,50 PLUG -@ TOTAL 650,00 CHARGE TO: FLOAT EQUIPMENT STREET _____STATE ZIP. @ @ @ @ To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment TOTAL ___ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TAX_ contractor. I have read & understand the "TERMS AND TOTAL CHARGE CONDITIONS" listed on the reverse side. IF PAID IN 30 DAYS SIGNATURE 1 PRINTED NAME

MY APPLICABLE TAX WILL BE CHARGED **UPON INVOICING**

RECEIVED KANSAS CORPORATION COMMISSION

DEC 2 6 2006

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID:

INVOICE

Invoice Number: 092337

Invoice Date: 02/12/04

Sold Pride Energy Company
To: P. O. Box 701602
Tulsa, OK
74170-1602

Cust I.D....: Pride

P.O. Number.. Hoyt #1-6

P.O. Date...: 02/12/04

Due Date: 03/13/04 Terms...: Net 30

Unit _	Price N	Congression of the section	ТX
Onic -	ETTCE	ACT The street	TV
	and the second second	ing a bid will be	.,
SKS	7 1500	4182.75	T
SKS	3.8000	342.00	\mathbf{T}
SKS	10.0000	40:00	T
SKS	30.0000	690.00	T
SKS	1.1500	* * * * * * * * * * * * * * * * * * * *	E
MILE	35.1000		· E
			_
JOB	520,0000	520.00	E
PER	0.5000	1.00	E
MILE	3.5000		Ē
EACH	45.0000	45.00	T
	SKS SKS SKS MILE JOB PER MILE	SKS 3.8000 SKS 10.0000 SKS 30.0000 SKS 1.1500 MILE 35.1000 JOB 520.0000 PER 0.5000 MILE 3.5000	SKS 3.8000 342.00 SKS 10.0000 40.00 SKS 30.0000 690.00 SKS 1.1500 807.30 MILE 35.1000 491.40 JOB 520.000 520.00 PER 0.5000 1.00 MILE 3.5000 49.00

-All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter.

If Account CURRENT take Discount of \$ 7/6.85

ONLY if paid within 30 days from Invoice Date

 Subtotal:
 7168.45

 Tax...:
 360.39

 Payments:
 0.00

 Total...:
 7528.84

RECEIVED

RECEIVED

RECEIVED

KANSAS CORPORATION COMMISSION

RECEIVED

KANSAS CORPORATION COMMISSION

DEC 26 2006

CONSERVATION DIVISION WICHITA, KS

REMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** med lodge KS CALLED OUT TWP. ON LOCATION JOB START JOB FINISH
STATE RANGE SEC. DATE 2-10-04 305 COUNTY LEASE HOLT LOCATION ISabe WELL# Isouth Barber OLD OR NEW Circle one) Dinte CONTRACTOR Y: CLAR OWNER TYPE OF JOB Surface HOLE SIZE 12-14" T.D. 307 **CEMENT** CASING SIZE 75/7 DEPTH 302 AMOUNT ORDERED 2255x 100.40. 2690 **TUBING SIZE** 450 5x class A + 3% CL DEPTH +3% C DRILL PIPE DEPTH 367 TOOL DEPTH 585 @ 7.15 4182, PRES. MAX MINIMUM 50 COMMON @ 3,80 342.00 MEAS. LINE SHOE JOINT 16 **POZMIX** CEMENT LEFT IN CSG. 15 **GEL** @ 10.00 PERFS. **CHLORIDE** @ 30.00 690.00 DISPLACEMENT 18 66 fresh that in @ @ **EQUIPMENT** @ CEMENTER MILE K PUMP TRUCK # 372 # HELPER MARK Brancard HANDLING 702 @ 1,15 **BULK TRUCK** MILEAGE 14 x 702 x 05 491,40 DRIVER Travy (#359 #342 TOTAL 6553.45 DRIVER Jush McDow Tonner tox 356 Darrin Franklin REMARKS: SERVICE on bottom break Circulation start Production Comunt 2255x 60:40:2 **DEPTH OF JOB** 302 +3%cc@ 14,8 weight @200 Psi, 170m5top PUMP TRUCK CHARGE 520,00 umps Relate wooden Plug Start Disp **EXTRA FOOTAGE** ,50 1.00 MILEAGE 49,00 @ <u>3,50</u> in pipe amust Did not Circulate. WAC PLUG Woode @ 45.00 @ hat Circulate, Gierun Goll-inch mix 2505x ament Did Circulate, Gierun Goll-inch mix 2505x ament TOTAL 615.00 CHARGE TO: _ STREET. FLOAT EQUIPMENT NONE @ **@** @ @ @ To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment TOTAL

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

GNATURE Mike Kern

TAX ______
TOTAL CHARGE ______
DISCOUNT ______ IF PAID IN 30 DAYS

MIKY KETY
PRINTED NAME

ANY APPLICABLE TAX
WILL BE CHARGED
UPON INVOICING

RECEIVED
KANSAS CORPORATION COMMISSION

DEC 26 2006